O 258 242 vha Uehd 2S A=Ae.

581 177
W10 @ 1000

@ (1)5.81 (2) 1.77 @ (1) 5.81  (2) 0.177

@ (1) 0.581 (2) 1.77 @ (1) 0.581 (2) 1.077

® (1) 0.581 (2) 0.177



oh A4S A% Hh2A) Uil 218 120,

165 7
M To00 ) Tooo
@ (1) 1.650 (2) 0.7 @ (1) 1.065 (2) 0.7
® (1) 0.165 (2) 0.7 @ (1) 0.165 (2) 0.07
® (1) 0.165 (2) 0.007




3.

the = Zo|A 4.09 BTt T3 454 Bt 2o AL s gf9]
4.62,4.51,4.25,4.8,4.3,4.07
@ 570 @ 470 3 370 @ 270 G 170



2.78 2.35 0.37 3.46

® 0.37-2.78 - 2.35 - 3.46 @ 0.37-2.35- 2.78 - 3.46
® 3.46 - 0.37 - 2.35 - 2.78 @ 3.46 - 0.37 - 2.78 - 2.35

B 3.46-2.78 - 2.35 - 0.37



2717k 2 4R A2 2 A ol AU
0.319, 3.019, 0.391, 9.103

@ 9.103, 0.391, 3.019, 0.319
® 9.103, 0.391, 0.319, 3.019
® 9.103, 3.019, 0.319, 0.391
@ 9.103, 3.019, 0.391, 0.319

® 0.319, 0.391, 3.019, 9.103




6. Ao mAe b2 A ALSE AL 12X Q.

(1) 0.88-0.78 (2) 0.61—0.18

@ (1) 0.11 (2) 0.33 @ (1) 0.9 (2) 0.43
® (1) 0.9 (2) 0.33 @ (1) 0.1 (2) 0.33
® (1) 0.1 (2) 0.43



Oh 0.74 = 74 2] 100 BiJ Yt

o]
Lh 50 < m 0.05 Y4yt

) 6.017 14 72 001 ] 2] o] 27T,

@ @ @ W 3@ © @ e, @ W eh




1
10991 108 [Jel . 1099 S 2 [ R

D 109,1.09 @ 109,0.109 ® 1.09,0.109
@ 10.9.0.109 3 1.09.1.09




=l @9 7 o] etHlE = ©9 7 o] HEH= 9 %
B A7

17.00

@IEN

7
@

@ 0.001 Hj @ 0.01 ©j ® 0.1 4}
@ 1000 Hf ® 100 B}



; Pl 100m EE] 7194 A= 15.73 %, Y2 13.88
A5 FrF dupnhE of wEx2] LA Q.

© $A, 1.75% @ yzh 1.7 %
@ Yt 1.85%

® A, 1.85%
® A, 1.95 %



(1) 2.683 +3.019 (2) 4.092 + 3.008

@ (1) 5.692 (2) 6.991 @ (1) 5.692 (2) 7.1
® (1) 5.702 (2) 6.991 @ (1)5.702 (2) 7.1

® (1) 5.702 (2) 7.01




12.

1.342 - 0.762

SELECEEE
© 2549 Aelg
A

CEEERE

I

zepgoz Aurgn
wro] BAIE 4y
He

St

X A

=
s
T

M)

=

DO=20=20 00000 00=>0=06

@®O=20>0 0OGOO0=>0=20



13.

thes Hh2A A4k Ae 12X L.

(1) 418 -2.34  (2) 4.294 - 3.817

@ (1) 2.84 (2) 0.473 @ (1) 2.74 (2) 0.477
® (1) 1.84 (2) 0.477 @ (1) 1.74 (2) 0.473

® (1) 1.74 (2) 0.477




14, [ |oto] amre 52 A2 AEe AL 1240,

10.802 - 7.263-1.998 =[ |-1.998 =

D 3.528, 1.54 @ 3.529, 1.541 ® 3.538, 1.54

@ 3.539. 1.541 ® 3.539. 1.551



15. the FolA AR Ant A 2 2L ol A FohA L

@® 1.007 + 2.06 @ 0.936 + 2.87 ® 3.02+0.98

@ 5.61+1.907 ® 6.75+1.98



16.

5 20] gho] 1 Brk 2 212 ol AY

@® 0.36 + 0.58

@ 0.327 +0.49

@ 0.52+ 047

® 0.8+0.15

g7

® 0.73+04



17. [ [t g2 e HEA 2 2E 12N,

(1)4.9+289=[ |
(2)9.45+3.092 =] |

@ (1) 6.28 (2) 4.047 @ (1) 6.28 (2) 12.532
® (1) 7.78 (2) 4.047 @ (1) 7.79 (2) 12.532

® (1) 7.79 (2) 12.542



18.

ot

mlo

A4e0) MALS vhA] A 2 T2A L.

(1) 5.307-3.95  (2) 8.56 — 6.64

@ (1) 1.357 (2) 2.02 @ (1) 1.357 (2) 1.96
® (1) 1.357 (2) 1.92 @ (1) 1.352 (2) 1.96

® (1) 1.352 (2) 1.92




19. [ ool amre 52 A2 AEe AL 1240,

8.56 - 2861 -3.55 = |-355=[ |

@ 5.599, 2.049 @ 5.699, 2.149 @ 5.599, 2.149

@ 5.699. 2.140 3 5.689, 2.049



20. [ ]l Qe 5 2AYR AP A2 D240,

877-237-198= |-1.98=[ |

@D 6.04, 4.02 @ 6.04, 4.42 ® 6.4, 4.02

@ 6.4, 4.42 ® 6.4, 4.52



21.

[ Jerleo

EREEREE

1=}
T
A
-

AR 57k ol
o]

B9
A o= AQU7A?

@3] P © 40 © 3.97 |
O 9-6-6 ® 0-6-0 ® ©-0-©
® O-©-O ® ©-0-0



22. gg 3 259 WA vt

)

St

2 ol AQA T5HA 2
@® 1.54+28=1.82 @ 1.54+28=18.2

® 1.54+28=4.34 @ 154+28=3.34

B 1.54+28 =434



@ (1) 16.677 (2) 10.632
@ (1) 16.687 (2) 10.632

® (1) 16.687 (2) 10.742

@ (1) 16.677 (2) 10.642

@ (1) 16.687 (2) 10.642



24.

heg vl AL G n2Ae

(1) 11.82 +4.108  (2) 5.4 +8.12

@ (1) 15.917 (2) 13.16 @ (1) 15.918 (2) 13.52
@ (1) 15.927 (2) 13.16 @ (1) 15.928 (2) 13.52

® (1) 15.929 (2) 13.16




